TecTnpoBaHue No XMMmn Ha
TEMY:
Ha3BaHNe TeMbI

BbinonHun:
YY4EHUK

CpegHeN LLKOrb!
Ne7/

10 knacca «A»
BepeTeHHNKOB



BbibepeTe npaBunbHoe Ha3BaHWe
BelllecTBa

CH:—-C=CH-CH-CH:-CH:

| |
of B CHs

1 — 3,5-aumMeTunrekceH
2 — 2. 4-nnmeTunrekcaH
3 — 2,4-0umMmennrekceH-2

(XN
N
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Monekyna aTeHa MMEeEeT CTPOEHMUE:

1 — nnockoe
2 — NMINHEenHoe
3 — TeTpasgpuyeckoe




YKaxute Tun nsomepun ang

CH, CH.-CH, BeulecTB
\ /
C=C CH, H
\
I\ C=cC
H H / \
H CH, - CH,

1 — yrnepogHoro ckenerta
2 — MONOXeHUA KpaTHOWN CBA3U
3 — reoMmeTpuyeckas

(XN
N
[3%)



[lpaBunbHo!!!



HeBepHbI OTBET!!



[lpaBunbHoO!!!




HeBepHbI OTBET!!



[lpaBunbHoO!!!




HeBepHbI OTBET!!



KoHeLl TecTUpoBaHUA



